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QUESTION 1

Refer to the exhibit. 

Given existing variable values on the vector step in the exhibit, what will be the resulting value of Variable "A"? 

A. 876549432 

B. 3876 

C. 9432 

D. 87654 

Correct Answer: A 

 

QUESTION 2

Which of the following provides centralized control and visibility at every level of the deployment of Avaya Aura Call
Center Elite Multichannel in a virtual environment? 

A. Vmware 

B. vCenter 

C. Elite Multichannel 
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D. vSphere 

Correct Answer: B 

 

QUESTION 3

What are two call vectoring command failures for "adjunct routing"? (Choose two.) 

A. The VDN\\'s COR does not permit routing to the adjuncts applied destination. 

B. The specified agent Is not logged into the specified split tor a direct agent call. 

C. The VDN\\'s COS-group does not have Console Permission set to y. 

D. The CTI link can be any Identifier. 

Correct Answer: AB 

Reference: https://downloads.avaya.com/css/P8/documents/101050308(18) 

 

QUESTION 4

Refer to the exhibit. 

What are three reasons for turning on "Net Redir" = y? (Choose three.) 
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A. Network Call Deflection does not use ISDN messaging. 

B. It supports route-to number ~rl23658888. 

C. It increases trunk usage and costs. 

D. It supports Network Call Transfer. 

E. It decreases trunk usage and costs. 

Correct Answer: ADE 

 

QUESTION 5

Refer to the exhibit. 

The reply-best vector command is applied to which BSR VDN/Vector? 

A. Status Poll Vector 

B. Primary Vector 

C. Interflow vector 

D. Adjunct Vector 

Correct Answer: A 
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